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Dialogue 1

Answer questions 1 to 3

Question 1

JA18BD was holding due to a trouble of ...

the ILS receiver.

the VOR receiver.

the inertial navigation system.
the fuel control system.

PO

Question 2

The controller instructed the pilot to ...

continue holding.
follow the Citation.
pull over to the right.
taxi to another taxiway.

i

Question 3

The pilot told the controller that ...

delay was undefined.

he would taxi back to the spot.

some instrument should have been replaced.
he would stay there for about 10 minutes.

PO



Dialogue 2

Answer questions 4 to 6

Question 4

JA18BD was holding on the taxiway because ...

1. there seemed to be a fire.

2. some instrument was malfunctioning.

3. fuel was leaking.

4. ground maneuvers were impossible.
Question 5

The controller initially instructed JA18BD to ...

b=

hold its position.

move to another taxiway.
follow the ERJ.

return to its spot.

Question 6

What was not transmitted by the controller?

b=

Traffic information.

Instruction to hold position.
Instruction to wait outside the runway.
Takeoff clearance.



Dialogue 3

Answer questions 7 to 9

Question 7

The full length departure was not available due to ...

1. foreign object on the runway.

2. cracks on the taxiway.

3. another aircraft which had a trouble.

4. construction work on the runway.
Question 8

The controller confirmed the position when JA18BD was ...

i

taxiing near W1 taxiway.
taxiing near W3 taxiway.
taxiing somewhere unknown.
lining up the runway.

Question 9

The controller informed JA18BD ...

PO

the remaining runway length.
ground temperature.

wind data.

a NOTAM.



Dialogue 4

Answer questions 10 to 12

Question 10

The controller instructed JASSKS to ...

1. maintain VMC.

2. depart without turning.

3. take off immediately.

4. stay on the runway.
Question 11

The pilot could not depart because of ...

1. landing gear trouble.

2. runway incursion.

3. curfew.

4. engine problem.
Question 12

The controller finally told JASOAS ...

not to land.

to taxi off the runway.

a towing tractor was on the way.
to hold on the runway.

PO



Dialogue 5

Answer questions 13 to 15

Question 13
The pilot reported ...

pilot’s incapacitation.

some instrument was out of order.
the airport was sighted.

an emergency.

PO

Question 14
The pilot requested to ...

descend.

land at Fukuoka airport.
change his heading.
cancel IFR.

i

Question 15

What was the target of vectoring ?

1. Runway 34 final approach course.
2. Right downwind.

3. Left traffic pattern.

4.

Initial approach fix.



Dialogue 6

Answer questions 16 to 18

Question 16

The pilot was unable to comply the controller's request initially because of ...

lack of the equipments.
weather condition.

trouble of the aircraft system.
aircraft climb performance.

PO

Question 17

The controller gave him radar vector heading to ...

TORII Point.

NAHA VORTAC.

runway 36 final approach course.
avoid towering cumulus.

i

Question 18

The pilot requested heading 050 due to ...

avoiding the traffic.
traffic separation.
cloud condition.
restricted area.

PO



Dialogue 7

Answer questions 19 to 21

Question 19

The pilot requested altitude change due to ...

1. light plus turbulence.

2. icing condition.

3. cloud condition.

4. landing preparation
Question 20

The controller instructed to reduce airspeed due to ...

i

departure traffic.

traffic separation.

speed restriction of control zone.
time restriction.

Question 21

The reported traffic was ...

PO

opposite direction and below of JA123G, and visually contact.
opposite direction and above of JA123G, but negative contact.
same direction and below of JA123G, but negative contact.
same direction and below of JA123G, and visually contact.



Dialogue 8

Answer questions 22 to 24

Question 22
The problem was ...

high lift device trouble.

landing gear trouble.

passenger sickness.

unable to contact with company.

PO

Question 23
JA123G changed destination due to ...

fuel condition.

destination weather changed.
advice from the controller.
hydraulic system trouble.

i

Question 24

Initially, JA123G was flying at ...

1. 7,000 ft.
2. 9,000 ft.
3. FL170.
4. FLI180.

535 9/15



Dialogue 9

Answer questions 25 to 27

Question 25

Current approach type of Miyazaki Airport was...

1. visual approach runway 09.

2. ILS approach runway 27.

3. visual approach runway 27.

4. VOR approach runway 27.
Question 26

The pilot did not request ...

1. wind condition.

2. emergency landing.

3. medical assistant.

4. traffic information.
Question 27

The condition of sick passenger was ...

1. toothache.
2. headache.
3. backache.
4. stomachache.



Dialogue 10

Answer questions 28 to 30

Question 28

The controller informed the pilot that ...

PO

wind condition was steady.

wind condition was changeable.

the present situation was wind 340 degrees at 5 knots.
the present situation was wind 360 degrees at 4 knots.

Question 29

The pilot could not land because of ...

1. amechanical problem.

2. aproblem with the ILS.

3. the wind direction.

4. aproblem with the DME.
Question 30

The pilot decided to ...

1. hold over IKG.

2. hold and work out the problem.

3. make another approach.

4. divert to Kagoshima.



Dialogue 11

Answer questions 31 to 33

Question 31

JA82BJ was instructed to go-around because the prior traffic reported ...

1. abird strike on the runway.

2. an obstruction on the runway.

3. some damage on the runway surface.

4. the runway condition check was not done.
Question 32

Tower controller instructed the pilot to ...

1. change frequency as soon as possible.

2. remain on this frequency and report reaching 3,000 ft.

3. change frequency after reaching the assigned altitude.

4. change frequency before reaching the assigned altitude.
Question 33

The controller corrected his read-back because the pilot ...

said wrong heading.

repeated wrong altitude.
repeated incorrect frequency.
said wrong altitude and heading.

PO



Dialogue 12

Answer questions 34 to 36

Question 34

The controller reported to the pilot ...

PO

congestions of runway 30.

rough air condition of departure course of runway 27.
wind shear and rough air on short final of runway 27.
wind shear and rough air on short final of runway 30.

Question 35

JA82BJ requested visual approach to runway 30 due to the ...

i

instruction from the tower.

bird strike on runway 27.
approach condition for runway 27.
traffic congestion on runway 27.

Question 36

Tower finally notified JA82BJ that they ...

PO

should line up on short final.

would receive the landing clearance on short final.
would encounter a moderate turbulence on short final.
would find departure traffic from runway 30.



Dialogue 13

Answer questions 37 to 39

Question 37

The controller instructed go-around, because of ...

1. apredicting earthquake.

2. runway check in progress.

3. asevered runway.

4. strong earthquake.
Question 38

The reason for go-around was ...

1. the runway check was complete.

2. the visibility was deteriorating rapidly.

3. they were not sure of the runway condition.

4. there was severe turbulence over the runway.
Question 39

After go-around, JA82BJ requested to ...

proceed direct Niigata VOR and hold as published at 4,000 ft.

hold over Niigata VOR as published.

proceed direct Niigata Radio Beacon and hold as published at 6,000 ft.
proceed to OKESA via missed approach course and hold as published
at 7,000 ft.

PO



Dialogue 14

Answer questions 40 to 42

Question 40

JA82BJ made a go-around because ...

the birds were at 4,000 ft.

tower instructed JA82BJ to do so.
the visibility was not good enough.
the birds were on the runway.

PO

Question 41

The controller instructed the pilot to ...

make left turn, and climb to 3,000 ft.

fly missed approach procedure course.

make right turn heading 300, and climb to 3,000 ft.
turn right heading 310, and climb to 4,000 ft.

i

Question 42

The controller asked the JA82BJ whether ...

they requested to follow missed approach course.
the approach condition was good enough.

they wanted to make the another type of approach.
they wanted to make another approach immediately.

PO



